F M LA )
M 9 X 8§ = 9 x 7 (1) 3 X 2 = 3 X 1
2 4 X 6 = 4 X 7 (128 X 4 = 8 X 3
@ 2 X 4 =2 X b (13 4 X 9 = 4 X 8
@ 9 x 2 =9 X 3 14 8 X 2 = 8 X 3
B 9 x 8 = 090 X 0 (1 Hh x 8 = Hh X 0
& 6 X h = 6 X 4 (1) @ X 4 = 9 X 3
7 2 X 7 =2 X 8 (17 h X 6 = Hh X b
® 3 X 4 = 3 x b 18 6 X 7 = 6 X 8
® 1 X 4 = 1 X 5 (19 9 X 1 = 9 X 2
(10 4 X 8§ = 4 X 0 1 X 1 =1 X 2

2E 7)) BRSO — KD 300 A Y365 hitp://www.print365.net



F M LA )
(M 9 X 8 = 9 x T [+|]9 (1) 3 X 2 = 3 x 1 [+|]3
2 4 X 6 = 4 x T|-|]|4 (120 8 X 4 = 8 X 3[+]]8
@ 2 X 4 =2 X Hl-|]2 (13 4 X 9 = 4 X 8|+]|| 4
4 9 X 2 = 9 xX 3|19 (149 8§ X 2 = 8 X 3118
B 9 X 8 = 90 X 9|—-[]9 (15 Hh X 8 = 5 X 9[-[]H
& 6 X h = 6 X 41+ 6 (1) 9 X 4 = 9 X 3 [+|]| 9
h 2 X 7T =2 X 8|2 a7 Hh X 6 = 5 X H[+[]H
® 3 X 4 =3 x 5|3 (18 6 X 7 = 6 X 8|06
@ 1 X 4 =1 X 5]—|]] 19 9 x 1 = 90 x 2[—1]9
10 4 X 8 = 4 x T|+|| 4 e 1 X 1 = 1 x 2|1

2HT) v NERSYT o — D 50D A ¥ 365 http://www.print365.net



